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XII-M1 , ’ | 5B
First Mid Term Test - 2019 |
' Standard XII
MATHEMATICS &
Time: 1.30 hrs. : Marks: 50
PART A :
Note: i) Answer all the que 10x1=10
Ii) Choose and write rrect answer.
1. If|adj (adjA) [=| A | ,ﬂénhe order of the square matrix A is
a)3 b4 @ ¢)2 d) S5
cos® sinB) k 0
A= d djiA thenk="
£ [—sinB cosG) g A(a IA) (0 k) g
a) 0 ~ b)sind ©) cos 6 d) 1
14 2i + 32 . | \
AWM er - SRR
a)1 | b) -1 \2 i d) 4
4. If z=1-cosO+isin Vz|=

a) 25m-— };.)%9 c) 2|sm—| d) Zlcos——l

21
5. The least posmve lnteger such that ( 1+i) is a positive

integer is _
6 oo DR L R
6. tan™ (lJ +tan™ [-2-) is equal to
- 9
-l-cos“' (2’-) - Lt (gj
a) 2 3 b) 2 9

c) -;—tan_l[—i-) o | d) tan"[é—)
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22. a) Findalltheroots of (2 —2i)3 and also find the product of its
Bl T _ :
(OR)

b) Ipand qare the roots of the equation £x2 + nx +n = 0,

: : =N
_ showthat\/%"'\/g*\[';=

1 23. 8) Letizy, 25,23 becomplex ﬁumbers such that

|z =l 25 |=| 23| =1>0 and z(+zz+z3 # 0, prove that

| |lez +2y73 +7~321| =5 ’).
l Z1+zy+z3 3

W(O?' b'

£ ‘
xa"+25’\§"-10x+1 ‘Q\
R 1

1
N %
=13 2 1| by Gauss-Jordan
i A ‘

(0%}

b) Solve: tan [——-l] _tén [X+ljl=-1-t-
2 4
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